

Pay Estimate Created Date: October 3, 2023

Progress Estin Nur		mate nber Cont	tract ID 23	0317-F08		Pay Period Start	Septe 2023	mber 16,	Original Contract A	mount\$1,182,368.80
9		Prim		F, LLC dba Traffic C mpany	ontrol	Pay Period End	Net Change Order Amount Current Contract Ar	* \$4,302.00 Amount \$1,186,670.80		
Approval Date	oval Date									
October 3, 2023				Generated and	d Approve	d (and should be con	sidered	Draft) at the	e Project Office Level by	y reebc
October 3, 2023				Reviewed and App	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Leve					
October 3, 2023					Reviewe	ed and Approved at th	e Cent	ral Office Co	ntrollers Office Level by	ramses
Original Co	mpletior	n Date	Current Co	ompletion Date	Acti	ual Completion Date	•	% of	Current Contract Amo	ount Complete
Decemb	er 1, 202	23	Decem	ber 1, 2023					96.76%	
		Contract In	formational Da	tes		Milestone	s			
Date Descrip	otion	Original Co	nal Completion Date Current Completion Da			No Milestones Exist	for Cor	ıtract		
Acceptance Dat	e									
Awarded Date		April 5, 2023	3	April 5, 2023						
Letting Date		March 17, 2	023	March 17, 2023						
Notice to Procee	ed Date	May 8, 2023	3	May 8, 2023						
Open to Traffic I	Date									
Work Began Da	te									
Contract Total P	Pav For E	Estimate No	. 9							
Contract Total P	Pay For E	Estimate No	. 9	This Estimate		Previous			To Date	
Contract Total F	T G Ir L	otal Posted I Gross Item Ac ncentive Disincentive iquidated Da	tems Pay ljustments	This Estimate \$33,623.60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00		\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00)		\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	
	T G Ir L C	otal Posted I Gross Item Ac ncentive Disincentive iquidated Da Other Contrac	tems Pay djustments mage t Adjustments	<mark>\$33,623.60 (\$11,129.98)</mark> \$0.00 \$0.00 \$0.00		\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$0.00)		\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00	
30317-F08 Contract Total P	T G Ir L C Payable	otal Posted I Gross Item Ac ncentive Disincentive iquidated Da Other Contrac This Estimat	tems Pay djustments mage t Adjustments	\$33,623.60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$0.00		\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00)		\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	
30317-F08	T G Ir L C Payable	otal Posted I Bross Item Ac ncentive Disincentive iquidated Da Other Contract This Estimat Period	tems Pay djustments mage t Adjustments	\$33,623.60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$0.00	cription	\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00)	Unit Price	\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	Current Installed Amount
30317-F08 Contract Total P ems Paid This E Project	T G Ir L C C C C C C C C C C C C C C C C C C	Total Posted I Bross Item Ac ncentive Disincentive iquidated Da Uther Contrac This Estimat Period Item Item Code	tems Pay djustments mage et Adjustments ie:	\$33,623.60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$0.00 \$22,493.62		\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$0.00 \$1,039,369.8	34	Unit Price \$250.000	\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$0.00 \$1,061,863.46 Current Installed Qty	
30317-F08 Contract Total P Ims Paid This E Project Number	T G Ir E L C Payable Stimate Line Numbe	Total Posted I Bross Item Ac ncentive Disincentive iquidated Da Uther Contrac This Estimat Period Item Item Code	tems Pay djustments mage et Adjustments te: PAVEMENT	\$33,623.60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$0.00 \$22,493.62 Item Dese	L (SYMBC	\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$0.00 \$1,039,369.8) 34 Unit		\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$0.00 \$1,061,863.46 Current Installed Qty 6	Amount
30317-F08 Contract Total P Ims Paid This E Project Number	T G Ir E C C C C C C C C C C C C C C C C C C	Total Posted I Gross Item Active Disincentive iquidated Da Other Contract This Estimat Period Item Code 6207002	tems Pay djustments mage t Adjustments te: 2 PAVEMENT 2 MISC.THER	\$33,623,60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$22,493.62 Item Desi	L (SYMBOREDUCTIO	\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$1,039,369.8 DLS)) B4 Unit EA	\$250.000	\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$1,061,863.46 Current Installed Qty 6 5	Amount \$1,500.0 \$7,900.0
30317-F08 Contract Total P Ims Paid This E Project Number	T G Ir D L C C C C C C C C C C C C C C C C C C	otal Posted I Gross Item Ac noentive Jiguidated Da other Contract This Estimat Period Item Code 6207002 620902	tems Pay djustments tage t Adjustments te: PAVEMENT PAVEMENT MISC.THERM MISC.SPRAN WHITE LF	\$33,623.60 (\$11,129.98) \$0.00 \$0.00 \$0.00 \$0.00 \$22,493.62 Item Dese MARKING REMOVA MOPLASTIC LANE R	L (SYMBO REDUCTIO PAVEME	\$1,114,584. (\$75,214.26) \$0.00 \$0.00 \$0.00 \$1,039,369.8 DLS) DN ARROW NT MARKING, 12") 34 Unit EA EA	\$250.000 \$1,580.000	\$1,148,207.70 (\$86,344.24) \$0.00 \$0.00 \$0.00 \$1,061,863.46 Current Installed Qty 6 5 5 26,776	Amount \$1,500.00

Project JSL0115 - Total

Overall - Total

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0115	0090	MISC.	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$2,082.14)
	0090	MISC.	Other Item Adjustment	Retroreflectivity Adjustment	Holding 20% for retro results			(\$694.92)
	0100	MISC.	Construction Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$7,951.76)
	0100	MISC.	Other Item	Retroreflectivity	Holding 20% for retro results			(\$401.16)

\$33,623.60

\$33,623.60



Pay Estimate Created Date: October 3, 2023

	Progr 9	ess Estimate Number	Contract ID Prime Contractor	STF, LLC dba Traffic Control		Pay Period Start Pay Period En	September 16, 2023 September 30, 2023	Original Contract Amount \$1,182,368.80 Net Change Order \$4,302.00 Amount \$1,186,670.80			
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Com	ments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount	
JSL0115				Adjustment	Adjustment						
Total										(\$11,129.98)	



Incentive Disincentive Liquidated Damages Other Contract Adjustments

Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information											
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work							
JSL0115	I-70-4(213)	Pavement marking	I-70	ST LOUIS CITY								
Totals by .	Job Numbers	;										
JSL0115		ltem Pay tem Adjustmer		tem Pay	This Estimate \$33,623.60 (\$11,129.98) \$22,493.62	Previous \$1,114,584.10 (\$75,214.26) \$1,039,369.84	To Date \$1,148,207.70 (\$86,344.24) \$1,061,863.46					

\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00

\$0.00 \$0.00 \$0.00 \$0.00



Exceptions (Discrepancies) This Estimate Period No Exceptions Exist on Contract



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
30317-F08	JSL0115	0001	0010	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	3.00	0.00	3.00	EA	3.00	\$5,000.00	\$15,000.00
		0001	0020	6169901	MISC.TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	1.00	\$500.00	\$500.00
		0001	0030	6169902	MISC.CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$500.00	\$1,000.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$200,000.00	\$200,000.00
	0001		0045	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	162.00	0.00	162.00	LF	162.00	\$26.00	\$4,212.00
		0001	0047	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	35.00	0.00	35.00	EA	34.00	\$250.00	\$8,500.00
		0001	0050	6209902	MISC.THERMOPLASTIC LANE REDUCTION ARROW	35.00	0.00	35.00	EA	35.00	\$1,580.00	\$55,300.00
		0001	0060	6209903	MISC.SPRAY THERMOPLASTIC PAVEMENT MARKING, 12" WHITE LF	107,456.00	0.00	107,456.00	LF	87,869.00	\$0.70	\$61,508.30
		0001	0085	6209903	MISC.PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24" YELLOW LF	70.00	0.00	70.00	LF	57.00	\$26.00	\$1,482.00
		0001	0090	6209903	MISC.SPRAY THERMOPLASTIC PAVEMENT MARKING, 6" WHITE LF	782,726.00	0.00	782,726.00	LF	780,311.00	\$0.60	\$468,186.60
		0001	0100	6209903	MISC.SPRAY THERMOPLASTIC PAVEMENT MARKING, 6" YELLOW LF	581,460.00	0.00	581,460.00	LF	547,028.00	\$0.60	\$328,216.80
		0001	0115	6209903	MISC.PREFORMED THERMOPLASTIC PAVEMENT MARKING, 8" WHITE LF	257.00	0.00	257.00	LF	0.00	\$8.00	\$0.00
		0001	5001	6207001	PAVEMENT MARKING REMOVAL	0.00	1,434.00	1,434.00	LF	1,434.00	\$3.00	\$4,302.00
	Project J	SL0115 - T	otal Value	Posted to I	Date as of Report Generated Date							\$1,148,207.70
0317-F08 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$1,148,207.70

Revision 3/23/2023



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Iumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log	Offset/ Distance	To Station/ Log	Offset/ Distance	Comments
								Mile		Mile		
0047	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	5/28/23	9/28/23	6.00	EA	WB 92 2 contrast merge arrows, 2 removal WB /SB 5th st-1 contrast 1 merge arrow- 2 removal WB/NB 5th St-1contrast, 1 merge arrow-2 removal					
0050	6209902	MISC. PAVEMENT MARKINGS	5/28/23	9/28/23	5.00	EA	WB 92.2 contrast merge arrows, 2 removal WB /SB 5th st-1 contrast 1 merge arrow- 2 removal WB/NB 5th St-1contrast, 1 merge arrow-2 removal					
0060	6209903	MISC. PAVEMENT MARKINGS	8/22/23	9/28/23	26,619.00	LF	12" Gores EB 70 Exit 232 to 70 ramp to Illinois WB- From Branch Exit 248B to Kingshighway Exit 244A					
			9/28/23	10/2/23	157.00	LF	Various location punchlist					
0090	6209903	MISC. PAVEMENT MARKINGS	9/28/23	10/2/23	5,791.00	LF	punch list items					
0100	6209903	MISC. PAVEMENT MARKINGS	9/25/23	10/2/23	3,343.00	LF	Rt 70-6" yellow - placed on several ramps found missing the yellow LEL					

The information below this line are details for Construction Signs (if applicable), No Data Available



Line Item Adjustments by Estimate

Oct 4, 2023

Contract ID: 230317-F08

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSL0115	0090	MISC. PAVEMENT MARKINGS	Construction Stockpile		6	Aug 15, 2023	SYSTEM	(\$92,644.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
					7	Sep 5, 2023	SYSTEM	(\$89,493.98)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Sep 18, 2023	SYSTEM	(\$14,382.86)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Oct 3, 2023	SYSTEM	(\$2,082.14)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$198,603.57)	
			Construction	Stockpile - 1	otal			(\$198,603.57)	
			Construction Stockpile STMI		4	Jul 17, 2023	SYSTEM	\$198,603.57	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$198,603.57	
			Construction Stockpile STMI - Total					\$198,603.57	
			Other Item Adjustment	OTHR	6	Aug 15, 2023	reebc1	(\$1,902.81)	Deduct for 31,560LF of contrast marking-123 gal @\$15.47=\$1902.81 deduction
				OTHR - Tota	al			(\$1,902.81)	
				REFL	6	Aug 15, 2023	reebc1	(\$36,512.60)	Holding back 20% for Retoreflectivity
					7	Sep 5, 2023	reebc1	(\$14,655.77)	20% withheld for retro results
					8	Sep 18, 2023	reebc1	(\$4,206.40)	Retroreflectivity 20% adjustment
					9	Oct 3, 2023	reebc1	(\$694.92)	Holding 20% for retro results
				REFL - Tota	l			(\$56,069.69)	
			Other Item A	djustment - T	otal			(\$57,972.50)	
	0090 -	Total						(\$57,972.50)	
	0100	MISC. PAVEMENT MARKINGS	Construction Stockpile		6	Aug 15, 2023	SYSTEM	(\$10,114.05)	Payment Estimate Item Adjustment generated Stockpile Transaction
					7		SYSTEM	(\$104,333.40)	Payment Estimate Item Adjustment generated Stockpile Transaction
					9	Oct 3, 2023	SYSTEM	(\$7,951.76)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$122,399.21)	
			Construction	Stockpile - 1	Total			(\$122,399.21)	
			Construction Stockpile STMI		4	Jul 17, 2023	SYSTEM	\$122,399.21	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$122,399.21	
			Construction					\$122,399.21	
			Other Item Adjustment	REFL	6	Aug 15, 2023	reebc1	(\$4,804.70)	Holding back 20% for Retoreflectivity
					7	Sep 5, 2023	reebc1	(\$23,165.88)	20% withheld for retro results
				DEEL Tota	9	Oct 3, 2023	reebc1	(\$401.16)	Holding 20% for retro results
			Otherstermet	REFL - Tota				(\$28,371.74)	
	0400	T-4-1	Other Item A	ajustment - 1	σται			(\$28,371.74)	
	0100 -	Total						(\$28,371.74)	
JSL0115 -								(\$86,344.24)	
Overall -	otal						(\$86,344.24)		



There are no contract adjustments to display for this contract.